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Complete the second pair according to first. 1
a.Safety fuse: heating effect; MCB.: ..........

b. Loud speaker: Motor principle, Inductor: .........

@RB}G220SIVICLIDEANHEI AGTRINAG@IN G22IS] 0BG @HB D,

A.MYESHIAOYTV? @IalaDelo; MC(B. ..........

b. emawnflead: emoeg08 m®Io; MEMVGBA: «eeereee.

Find out the one which doesn’t belong to the group. 1
i. Mixie ii. Electric motor iii. Fan iv. Iron box.

b. How does it differ from others?
@aigas i BFOVWOISIOMED D ?

i. dlg]  ii. 9By ® emoeg0d il anoad iv. @Gpememiog’
b. o@’ agas0l@ dlaoagarem ay®ILOGIEas?
When two equal resistors were connected in series, effective resistance was 4Q. What would be the 1

effective resistance if they were connected in parallel?
2" @Ay @JTIEEIWHERUWY WMIAITIVI® mimulxialentoud quanelgjollendwoe 4£2 ERI@M. B

QDERIWHERHS TVRIATNEMIW] nITWllafdmmenisldd mvanela)olerIWo af)@WIG:NIVI@R?

Ajai is trying to identify the direction of magnetic force in a current carrying conductor placed in a 1

magnetic field. Give the name of the rule he likely to use.
SIATSHMLLITI@ MAlElHa1QMD HOHAIBI®AACIVWIVW B@ 210LIHATIT BOMEAIOHHFAN

DIV HMNILIOHIOR GlU0RHOHETMIRAMINT EYMOBHWIEM GRRW. MH@IMIWV] @GPAIN 9a1eWIUlHNIM

MIWIOYSB WONATIOR GIHOLD .

kilowatt hour is the unit of ....... 1
a. electric current  b. Electric power c. Electric energy  d. Voltage
HIGRINISNIA )@ ceeeseee oM Qemigasm.

a. eIla’ »0@  b. 96018y® a1 €. ooIBE®IARR  d. cUIBF®

The turn ratio of primary and secondary of an ideal transformer is 20:1. Then 1
a. the ratio of power will be .........

b. ratio of current will be ..........

od2myalge®m 3 SdndeTIadieel seJad - HIVOWRA 2J2::a6S @rMal@o 20:1 Eryem. ag@:led

a. alQIQDHBOS BOMAIIDO werveeseee @RyVldlaso.

b. &0@o® @RMAN®O ..eceuee. @RWIdlaso.

See the circuit. 2
a. What is the current in the circuit? 20 1Q

b. Which is the resistor where potential difference is greater?  —— v VWY

MBS 36T

a. mm qudgieel &0 af)@Ivldlesc?

b. ag® @JoleRIWE:LIEM 2B HAISMBat@ AIy@LIaVO II "II
12V

eIdleasam®?
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a. Inductor is used to reduce intensity of ...... (AC/DC) 2
b. What is the advantage of inductor over a resistor?
: T QS TQY® H0QRAMIET MEMLRQBZaleIilasma. (AC/DC)

b. @Jolcrowsames @PEAIGH 2] MEMWRQNHBNS COMNOWON?

a. What is transmission loss? 2
b.Which of the following is the best choice for reducing transmission loss?

i. Transmit power at low intensity of current (I)

ii. transmit power at high intensity of current(l).

iii. Transmit power at low voltage(V).

a. @JAVEEM MaUHRANINLITH ?

b. @avuesmmayo @:0Q103 ®I69eB:05OHGSBMAIIERI®ISN” a@gqnjo ol MIBWO?
i. @0¢ A (I) atud GJetteMo HalQed:.
ii. pdm clgmiad (I) al0Id BaJateMo H21Q®:.

iii. ¢ cnBsMI® (V) alaid GeJaHemo HalQ)d:.

In an electric lamp, it is marked as 60W, 240V. 2
a. Name the substance used to make filament.

b. Find the resistance of the lamp.

8@ eoazy@enmic 60W, 240V agan” soaeasamlaidasm.

a. aflelond’ MIBMIeHIMAIERIVIGBMM AIBIBMACHM®?

b. o enmieo® olerswon®?

A rectangular coil is placed between two 2
magnetic poles .

a.The force experience on the arm AB will be
......... (upward/downward)

b. State the rule used to answer the above

question.
cc .ﬁ,omﬂ(ﬂ,@mmcﬁaﬁﬂsmﬂmﬁ

2IPAIGHONVIEIBS 3@ SHMila)Q” Nlajdlasmn.

a. AB agam 01xo@m)”’ @rmEAIO-SI mitlo

........... @R VIdlaso. (QaleeIns MICYHS)

b. pamEo G::6MEMIMAIeIsia) Mmoo Jayonilesa:.

There are two kinds of transformers. 3
a. Name the transformer in which thick wire is used in the secondary coil.

b. In a transformer there are 2000 turns in the primary and 100 turns in the secondary. What kind of
transformer is this?

c. If 200 V is given in the primary of this transformer, what will be the secondary voltage?
SINMBEIRINQHHUB NZMER6NE.

a. dMIORARI@D AURo&SIV 2JgdMil P 1CVIWFABMN® ABD®A0 SIMBEAYINGILEM?
b. a@m someapondo® soadwl@ 2000 2qa:80 drveORAIRIGS 100 200806 H® (@@ SO
GaRINNIEM?

€. v soademIndlo® aoaadol@ 200V m@elwodm orvea@alwldd ag@ennuBsm ridloso?
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13 See the circuit. 100Q 3

14.

15.

16.

a. Identify the resistor through which more current flows.

. . . . | uuu un Hu H
b. Calculate the effective resistance of the circuit.
c.If the voltage V is 230V, calculate the heat generated in 50 Q
100 Q resistor in one minute.
VA1 Mildl e asd. (AC)
43 (AC)
a. DO 2O 6OAUBLDI Jaladlasmm QJTERIWHEDD® ? Vv

b. MB&SIORI TVANLIEJBIERIWO M ANIABD:.

d. 23® ewirlajdlasan V agan eanwdsm 230 V epesmeaiad 100 Q qjoilendwsaoiad
s8@amidlelnzo6:am ®Ialo af) @R ERVICes?

A few hints about a device is given. 3
i. Working principle: Electromagnetic induction.

ii. Main parts: voice coil,field magnet, diaphragm.

a. Identify the energy conversion takes place in the device.

b. Briefly explain its working.
BT DaldHMOTMARO2BR a@MIMo AR2IMBUW @ATIdlesnim.

i. JUBELDOO®I0: HHAIBYD B EJOsMo.

ii. gauy coWERWS: GAIVINY 8B0VIM, i@’ @:d0mo, W®@Jo.
a. MY 9alBHEMOIMeL] 9VBRAIGINBTMMo ag)a®?

b. o@lo® @udommo 2j@BosllowED M.

The deflection of magnetic compass placed below current carrying conductor AB is depicted in the 3
figures.

a. The direction of flow of electrons —m‘\—“ |i— —wa"mﬂ_ql |l_.

in the conductor AB is .......

(AtoB / BtoA) i Y 1 Y
b. Find out the figure in which the

deflection is correct. A _--~;:-";1W B A —— B
c. Name the rule used to identify the 5 N B N

correct figure. P

Fig.1 Fig.2
0903 J®0a0lwow AB agam
2DLIGOVIOM @MIHY B@ EHIMUAMV MYail Nlafdloson@ 2l@ldlajlcloasan.
a. AB 0lgjosqas @eleem @Jaaodlw ... apidaso. (AtoB / BtoA)
b. @amayaiges wdwIw allgowwmo B6mlajlgas sl@en®?
C. QOO0 HOMRAMIM MIERGaICWIUSa) Monca®?
Threepin plug makes sure safety in electric circuits. 4
a. What are the specialities of earthpin than other two pins?
b. What are the benefits of these specialities?

c. Briefly explain how a three pin plug make sure safety.
99NIBI® MVBH B EIE)a1BWICIHBAM B@ AYEG:HITVNIWINDIST” @laillad oy’

a. moleel oo’ njamm“mg(omgojlmaa)ag @RGaldHl ] af)ID(JED LM HBINSBM® ?
b. @™ AVNEWHDBHBOBITRER JEWIRMEBEBNI?

C. 3@ @lailadaly’ md@(gg’lm% MYOBH DONDHMMOHDEEBOHMHWAN 2JWBAHW LD .
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17. a. To which device is the electric line reaching our home connected first? 4
b. What is the use of this device?
c. In a house 5 incandescent lamps each of 100 W works for 4 hours, 4 fans each of 60 W works for
5 hours daily. Calculate the monthly consumption in the house.
a. dlenges algleeigman asamq&@aaemoem @Yo MMl aJdaesm®’ @ 9ald:0emMOIGRISNIGM ?

b. ©v @aldemadilom 9alewIvonan?
c. 8@ allglad dlemm 100 W o 5 snmdwoavad enmyaeud 4 memigaqo 60W o 4 anomadd 5 asmilgaqo
Judowilasam. o allgloel 8@ nITVHETH HNUBLMDAIBRINO HEMNANIABD:.

18. Now a days we hardly use incandescent lamps. 4
a. What is the main disadvantage of incandescent lamp?
b. Why is the bulb filled with inert gas or nitrogen?
c. An incandescent lamp draws 0.5 A current when it is connected to a 200 V supply. What is the

power of the lamp?
Q860 @RaJBNINIV] MI@En MmMEIG~IIUd @aﬁ.ﬁ,oc@m@“eloau”gme@ouﬂmoqg%

a. MBHIRAVD’ eMIOBR ABQ0Je IWIM MIM@ORIH?
b. agasimaem” mameo cIBMIGEIT @RRITVANRMGEDI HOMESREMI MNQRMN®?
c. 8@ emi' 200V @ dowil-lajexoid @@ 0.5A 66013i@l 9alewiulajpaiaslcd enminm aid

af) @IVIdla80?
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